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rate/cell by loop module ID
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difference between noise rate and mid-tray fit
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rate/cell by tray module ID, TrayIDinLoop=0 rate/cell by tray module ID, TraylDinLoop=1 rate/cell by tray module ID, TrayIDinL rate/cell by tray module ID, TrayIDinLoop=3 rate/cell by tray module ID, TrayIDinLoop=4
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rate/cell by tray ID, nHits/tray/ev>25
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rate/cell by tray ID, nHits/tray/ev>50
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rate/cell by tray ID, nHits/tray/ev>100
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rate/cell by tray ID, nHits/tray/ev>190

80

100

0.001

0.0008

0.0006

0.0004

0.0002

O_|||

80




| nHitslev, ToT range |

104 b3
10°
102

10

1 I 1 n I” 1 I 1 1 1 1 I 1
600 700 800

1 I 1
500

| nHits/tray/ev, ToT range |

10°

107 E

10°

]

10°

104

10°

102

" Iii:i.==i="r-

S .
» TH'I Phi L Y Y

40 60 80 100 120 140 160 180

10

°]1'n|4||||n|1| |||||m|

N
o



t-t,,,, NHits/tray/ev>25 |
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ToT VPD htotx_vpd
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mtd cell
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